RARBIFER
B RAGEEN

B4 5: 50148002

HT5B/4

The Sensor People

B A Re @

Leuze electronic GmbH + Co. KG
In der Braike 1, 73277 Owen

Leuze

&

- BERSH
- RNTE%
- BRIER
- BR

- BENE
- FmE
- A

- EZER
- B

do Em
B Sl

€ @ =l

LISTED

UK
CA

info@leuze.com « www.leuze.com REBFEAREEHA
3% : +49 7021 573-0 « t£E : +49 7021 573-199  chi » 2025-01-24 117



ESMEAHEN - B F%RS: 50148002 « HT5B/4

BRSH

EriiE

EX ]
THERE

KR

Re/peiRE

KM EEE

KM, B 90%
RNEEE, [RE 18%
KN, B 6%
3B E R
B E R
HEEE

SeEm

P

RRES KT

LED 4
SBEILAIRARSE R

R

BAHIE
RIF R

MHREBUIE
fren e U,
RSB
e

i
EESIES -ttt

FF <B4 H
EBERE
BRAFFRER
FrREBE

FrREH 1
FFRTTAF
FREREE

Vs

FrIRE
) 7 Bt (8]
HERT

pE 23

EH1

hae

el

BYHRKE
PEME
BAHE
SLBE
B EE

The Sensor People

5B
TE RGN AHERE

< 15% Bf &+ 200 mm
BRI IEE
0.002...04 m

0.005 ... 0.3 m
0.01..02m

0.002 ... 0.4 m
AN E

20 ... 400 mm

LED, 4 &

645 nm

790

B4 (1BHE EN 62471)
il

Eij

200 mm

RARHERSE
RRERY

10...30V, DC, BERRFEXE
0..15%, kKB Ug
0..15mA

DC

50 mA

£ : <25V

: 2(Ug2,5V)

=

K|

&, PNP

T

— dit Eo

t
&
BB U, RARM )

1,000 Hz
0.5ms
300 ms

{He iR
[eeE Ok
R
2,000 mm
PVC

26

3T

0.14 mm?

Leuze electronic GmbH + Co. KG

In der Braike 1, 73277 Owen

Leuze

WS
RI¥ (ExdmEx&) 11 mm x 32.4 mm x 20 mm
AFEMHE 2R
BWRIAFE PC-ABS
B EME EE(PMMA)
BE 44 g
AFEEE a6

26
RERR AN M3 BAEE

BN AERERE
MRFREE ECOLAB
BENER
BREH LED
LEDZX PEI
By SE e
BRAEEREIThEE HESEEEE
REBE
RERE , I -40...60 °C
NERE |, & -40...70°C
TAE
B &R IP 67
REER Il
INIE c UL US
R FAFRAE IEC 60947-5-2
BRRS 85365019
ECLASS 5.1.4 27270904
ECLASS 8.0 27270904
ECLASS 9.0 27270904
ECLASS 10.0 27270904
ECLASS 11.0 27270904
ECLASS 12.0 27270903
ECLASS 13.0 27270903
ECLASS 14.0 27270903
ECLASS 15.0 27270903
ETIM 5.0 EC002719
ETIM 6.0 EC002719
ETIM7.0 EC002719
ETIM 8.0 EC002719
ETIM 9.0 EC002719

info@leuze.com « www.leuze.com REBFEAREEHA
3% : +49 7021 573-0 « t£E : +49 7021 573-199  chi » 2025-01-24 217



BB - BLF4RS: 50148002 - HT5B/4

R E4

33,3

11

NN

9,1-10,9

NN

13,2

N

/ 32,4 \

1

M8x1

114

| —C1

™~ C2

A HELED
HEBLED
B
KEER
REEE A
BYEE

C1
Cc2

.

FIARS B REXK
20
_ M3
E\‘%
I %
<
g =)
E\ \ @
Q_
e}
2,9
10,6
W
=3
BRERE
ERE
Thee
B3]
HAKE
FEMH
BAHE
SLHBE
®OBE
D&
B
Ee
26

V)
o
—
—]
EA
B

~N

M12x1

The Sensor People

—1
w

=

s

M8x1

M8x1

He iR
(eeE Tk
B
2,000 mm
PVC

2e

3

0.14 mm?

BT

V+
GND
OUT 1

Leuze electronic GmbH + Co. KG
In der Braike 1, 73277 Owen

Leuze

info@leuze.com * www.leuze.com
BBi% : +49 7021 573-0 « £ E : +49 7021 573-199

REBAREEHRF

chi » 2025-01-24

3/7



ESMEAHEN - B F%RS: 50148002 « HT5B/4

. Leuze

90 % =EM IR ERE (FEERE 200 mm)

y X FEETEE [mm]
5 y fm% [mm]
2 - T ke T=x
2 1+ Z2N
1 e
_? 20 40 60 80 100 120 140 160 180 200
-2
-3 y1
-4 — |
-5 X

90 % =ER IR ERE (FEERE 400 mm)

y x  ARETEE [mm]
13 y {®@% [mm]
6 /
: = 7
2 += — /
_g 50 100 150 200 250 300 350 400
:8 \
-10 X
. 2
AET_-i - y1
X
Leuze electronic GmbH + Co. KG info@leuze.com « www.leuze.com REBFEAREEHA

The Sensor People In der Braike 1, 73277 Owen EBiE : +49 7021 573-0 45 E 1 +49 7021 573-199  chi + 2025-01-24 47



ESMEAHEN - B F%RS: 50148002 « HT5B/4

~
ZRRAERR
y X FEETEE [mm]
140 T 16\ y  HEEES D [mm]
1200/ _ B P A AE90%
100—___ ¢ pia B HE18%
80 > - C 2Bf6%
60 _ 4
40 A
< |-
20 -
0 =z X
0 50 100 150 200 250 300 350 400
IR
X
BREMER
LED 85 HEA
1 #5E KR BRI E 445
2 g6, K3 HEZRE
O | 2 4R
FmESHER

F=mEM : AAASB D-E.FF/GG.HH-JJ

AAASB

FF

GG

IhEERE / i%1t

LS5B : XI§f K stk BER (K3 )

LE5B : X3 4K sat% Bag (U )

PRK5B : 5 R i K 85 Y 8 e 57 B fe e % Bk aR
HT5B : & SHHIH 8 & 51 1% R8s

ET5B : 5% fx 51 K s 4% BiEg

pi¥i)

BUH : 4%

| : 50K

TR BHIAHEE (AL )

BUH - RNEERBHRER

xxxF : FR B FEEBE [mm)

®E

1: B{yit 270°

D : WA TERE =W

M : ¥FEHNFAEREEIR 5

XL : BB

B 5T E K A RES (PRK) LEUE : RNSBE R
ET/HT LEUE : AEN 8 REHATHIEEE
FRFI5 5 / ThaE

2 :NPN @&#&EHbE , =8

N : NPN &#&E b , BB

4 : PNP B&&ERLR , =8

P : PNP &#Efm b , BE

9: FIEMA (BISBFESEL)

X : BIHIKA

Leuze electronic GmbH + Co. KG info@leuze.com * www.leuze.com

The Sensor People In der Braike 1, 73277 Owen EBi% : +49 7021 573-0 « f£H : +49 7021 573-199

REBEAREEHRA
chi + 2025-01-24

Leuze

5/7



BB - BLF4RS: 50148002 - HT5B/4

5 S i Leuze

ARl =

HH B ERE
HUOH @ 848, FRAERE 2000 mm |, 37
M8 : M8 ElE#ERR |, 4 & (&%)
200-M12 : B85 | KB 200mm , # M12 BEI¥EEERS | 4 &, BEF (@)
200-M8 : B4 , KE 200mm , # M8 EliE#ERR |, 4§t , B (@K )
200-M8.3 : 45 , & 200mm , # M8 EERESR | 3 & , B (k)
M8.1: M8 Bl E#ERS |, 4 & (k)
M8.3 : M8 BElE#ERR , 3 & (k)

JJ bk
Y1: BRAENEELL

Y FIE A AR R X R IIREE T 5 MAI ML www.leuze.coms

L

A EFRE N EAAE |

O A RHELEEREE  TEATARRY.
G RgERET AR FA=RBRAZET,

& F AR E AR 6 @,

HIFULRA :

G RUEAT2KER

% These proximity switches shall be used with UL Listed Cable assemblies rated 30V, 0.5A min, in the field installation, or equivalent (categories: CYJV/
CYJV7 or PVVA/PVVAT7)

BEZER

RIRONEERE / BELE . RABKRNERE / NETWE ( BE 90% ) HiEFETE
« R : SN TERENHIEENRIEE

« KR 25°CERSLR AT AP HI £ A 579 100000/ B

+ TRIETIE: N TAEIBIEHRERATE |, BWPEM RS 5kOhm

Leuze electronic GmbH + Co. KG info@leuze.com « www.leuze.com REBFEAREEHA
The Sensor People In der Braike 1, 73277 Owen EBiE : +49 7021 573-0 45 E 1 +49 7021 573-199  chi + 2025-01-24 6/7



BB - BLF4RS: 50148002 - HT5B/4

B Leuze

RE RS - ZHEXHR

B trms =L [ Wi
- 50118542 BT 200M.5 REXR RRIGERI BEAF L
" REMEEHS: BARE
ot REMEREMF: BHERX, BAT M3 Rig
| REQEXE: TR
L THEN
50124651 BT 205M-10SET RERBRE RFERF R L EBE

REMEEMF: BARE
FEMEEA: RiE
RERZRE: NI

nE: 2R
I > =
g & %xém - [ Eﬂ:
B mE ™ [ B8
50117829 BTP 200M-D12 BRERG BEBGERIT P E

BEMEEHS: EBF12mmiT
EEMEEH: RiER

RERIRFER: ARE, AT, HEH , 360
HE: &R

50117255 BTU 200M-D12 RERS TIRFZ RN BERS
BEZMNEEH: BT 12mmiT, Ix-& 8 E
KEMEEH: BiEX, EAT M3 iR
RERIRZEA: ARE, AIAT, ek , 360
mE: 2R

& PR A A B B TRTE LS5 5 M M A B 41 A 15 B T E Y T 80L T+,

Leuze electronic GmbH + Co. KG info@leuze.com « www.leuze.com REBFEAREEHA
The Sensor People In der Braike 1, 73277 Owen EBiE : +49 7021 573-0 45 E 1 +49 7021 573-199  chi + 2025-01-24 77



